NUMBER SYSTEM | PART-13

Number of Zero

Find no of zeros
=i %) T T |
2% x 5% 42x 108 x 6'¢x 512x 81x 205 x 108 x
252,
(A) 90
[Cy1r12

(B) 10
(D) 116

Find no of zero when multiplay first 50 prime
number.

T 50 319 TENsT % YUTRS & 3T H TR 17 g1 |
(A) 1 (B) 10
(C) 15 (D) 20

Find the number of zeros at the end of the prod-
uct.

T i AT T i |
12x5x%x15%x24x 13 x30x%x75

(A) 4 (B) 5

(€) 2 (D)3

1 x3x5x7x9 ... 101 x 128

Find maximum number of zero at this product.
T & 31 | R 71 81 |

(A) 2 (B) 4

(€)5 D)6

Find number of zeros at the end of the expres-
sion.

FIRI 1 HEAT T B |

10"+ 104+ 10% + ......... 108,

(A) 8 (B) 28

(€0 (D)1

Find the number of zeros.

F[IRI I ST TR H

IVx 2% x 3% x g . 10,

(A) 5! (B) 10!

(C) 5!+ 10! {D) None of these
1= 2%9% 3% .. 100" find maximume num-
ber of zero,

L1100 % 299 398 ... 100 I =t T 9 |
(A) 1122 (B)1124

(C) 1121 (D) 1020

8,

9.

10.

11.

12,

13.

Find number of zeros in the end of 13 x 2% x 3°

.......... 262,

18x 2% 3% ... 262 % AT H TR I G a4
70T |

(A) 100 (B) 112

(C) 125 (D) 128

Find number of zeros in the end of 137 x 2% x
3% 420% 3820,

120 % 220 x 320 x 420 L, 3820%61ﬁﬁ3ﬁ7ﬁﬁ
T BT

(A) 160 (B) 180

(C) 150 (D) 120

The number 2,4,6,8 ........ 98,100 are multiplied

together. The number of zeros of at the end of
the product must be.
HqE 2,4,6,8....... 98,100 =1 WER Ton o smar ¥ it

TUFRA 7 3§ I i e fwal g
(A) 10 (B) 12
(C) 14 (D) 18

Find the number of zeros at the end of the prod-
uct

bigeeakae kb cias el

140! x5x 15x22x%x 11 x 14 %135
(A) 34 (B) 35

(C) 36 (D) 37
Find the number of zeros.
bgeaeaksiezEickeaul

101+ 20! + 30!

(A) 2 (B) 4

(C)6 (D) 12

Find number of zeros at the end of the given
expression.

YT A T T A |

(8"2"‘— 8122 _ 8"2'] [3-233_ 3222 _ 32-2|]

(A)1 (B) 2

()0 (D)3

Ifthe product 1 x2 =3 x4,...., n-------- 68 zeros

is the end of the number then maximum pos-
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Mother's « Number System (Part-13)

15.

16.

17.

18.

19.

20.

sible value n is.
AE 1l x2x3x%x4

...... n O A R FEA F #9 A/

68 T T 1 n F eTirFaH AE = T |

(A) 275! (B) 276!

(C) 277! (D) 279!

How many zero will be at the end of the expres-
sion

41

121

(A) 8 (B)7

(€) 6 (D) 4

N! is having 32

zeros at the end. How many

values of N are possible.
N! % &g # 32 g1 ¥ o1 N % Fores A gog € |

(A) 0
(C) 5

(B) 1
(D) None of these

Find the number of highest power of 7 in 777!,
777V H 7 F S A WS 9 A |

(A) 128
(C) 126

(B) 130
(D) 125

Find the number of zeros at the end of 1011,

101! 7 =i Tt T T Ao |

(A) 20
(C) 24

(B) 22
(D) 25

Find the highest power of 5 in 100!.
100! § 5 i stferas = o |

(A) 25
(C) 24

(B) 48
(D) 11

Find maximum power of 70 in 7000!.
7000! § 70 =1 sfumad = s |

(A) 1213
(C) 1203

(B) 1164
(D) 1102
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Solution

(A] QB LICAIHELE) x SArEr1rlarLE 4] 140! =34
= 2116 x 50 5=1
No of zero = 90 15=1
135=1
(A) 2x3%x5%x7 .. 37
Noofzero=1 5010 5]20 5/30
12. (A
(B) 22x3x5x5x3x24x3x13x5x3x2x 2. @ 2 14 l6
54x 3 2 4 6
- oix & No. of zero = 2

13. (B) 811(82- 81- 89)x 3% (32- 31— 3Y)
= Q8bsx 55 x 3221 x §
D363 ¢ [

Power of 5 is less then power of 2

(D) find power of 5
5,15,25,35,45,55,65,75,85,095 = 2°
= 512 W 2[)
Maximum No. of zero =6

14. (D) 200!=49 zeros  250!=62 zeros
270! = 66 zeros 280! = 69 zeros
2751=68 zeros

(D) 2751, 2761, 2771, 2781, 2791
(C) 5% x 10W= 5! + 10! — 5 No.possible
(B) 5% x 10°' x 15% x 208 x ....... 50 x ...
75%..... 95%x 100! 15. (B) 5|41 5|12
_ 5[ 2
(96 + 1) 1 2
= “x20+764+51+26+1 o
2 g
- 970+ 154
= 1124 Number of zero 41! 10° _ 107
12! 10%

(B) 57 x 10 x 1517 x 20%2 x 25%

5 ® 513>< 5]. ® 53J>< 554
16. (C) -~ 100!= 24 zero

= 5l
(A] 590 % 1020 x 1520 x 2020 x D5 x 30 x 3520 125! = 31 zero
= 20y GU0 y G20y S20 y G4y U0 5 U0
_ gmo ST ST SIS S S 1291 = 31 zero
130! = 32 zero
(B) lO><20><3|E)><4OX50X6OX7O><80>< 1211 = 32 zero
....... 100 10"(1x2x3 ........... 10) 1391 = 3% zero |5
= 5'9x 5 133! = 32 zero
= 5" 1341 = 32 zero
(D) No of zeros in 140! 135! = 33 zero
5140
5128
el
1
34
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Mother's « Number System (Part-13)

17.

20.
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0
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1
=l

4
24

15is not a prime number. Thus we have to
find maximum power of prime no factor

15
N
3 5

(i) Maximum power of 3
100

_a]
3[3
31
3

)

—_

48

(i]) Maximum power of 5

o}
[}

b
]

3]
=l

Je] E
N

348 * 524 - [15]24
70 - 2x5x7
7 has least power

7000
1000
42

—

[l i

2

1164

|t\.>
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